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Nete :  Answers may be written either in Enf,hsh or in Hindi; but the same medmm should be

used throughout the paper.

"ﬁmﬁ":wwﬁwmmmm%ﬁﬁzﬁtmwﬁw W'ﬂ‘lﬂ?ﬁfl'
'wmm@ﬁmm

Attempt any Five questions.
" All questions carry equal marks.
fordl. wiwr yl & IW AR
woft y & sw wAm ¥
1 ' _What IS Px;oductioﬁ Possibility Curve ? HoW does it help in defining the Aconc§:pts of sdarcit)?,-
choice and opbonunify cost ? Explain with the help of diagram. | - | S,IG
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(a)  Explain the concept of income elasticity of dernand. What are the main factors on which

income elasticity of demand depends ? : - '_ ) . 10
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NOR price of Rs. 6 per cup of tea, a consumer buys 10 cups of coffee. If the.pricé éf
tea rises to'Rs, 8 per cup, the consumer buys 16 cupé of coffee.‘.Estimate crbés pfice
elasticity of demand bétween tea.and c_oﬂ"ge. - 5
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(@) | Define an indifference curve. Show consumer's quilibrium with the hélp of indiﬁér_eﬁce |

curve and budget line. o ' 7%
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(M Explain price, income and subslitutidn effect when price of.a ‘giffen com'modity_

falls. ' . ' o 7Y
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Discuss the relationship between Total Product (TP), Marginal Product (MP) and Average

Product (AP) of a variable factor. : 8
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Compare Law of Dimiﬁishing_Returns to a factor and returns to scale. 7
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What do you understand by Marginal Cost ? What 1. the relationship between
MC and AC ? o 8
e @ ¥ o9 F= gue € 7 dinid o o ol @ d @
ey ¥ 7

P.T.O.




(4) e

* (b) Calculate the Tot.al Variable Cost (TVC), Total Fixed Cost (TFC), Average Cost (AC_)

- and Margipal Cost (MC) from the data given below. :v : | : B ) 7
Units of Production To_ta-l Cost '”

0 230

1 '260—

2 280

3 290

4 304

5 | 330

6 | T 36
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Explain the equilibrium of a firmy under perfect competition in short and long run with the help.

of suitable (iiagrams. o o : 7_ | 15
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() What s sf\ut down point of a firm under pertect corhpetition ? Explain with the ﬁelp

oirdiagram.- : _ : . 5
A -
(b)) Explain allocé.tive efficiency in Perfect (Zompetition. | o 10
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.‘ 8. Write short noies .on ;any two : | - | _' _ B | 7‘/;.7‘/5_
) (U] Short_ run supply .'C_l.J!‘VE_ of .a per_fectly compétitive_ firm

(#). Paradox of Val;u-e.

(ifij_ Economies éflécalé. . ,.
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